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using System.Drawing.Drawing2D;

[7— 2D ES 1]

public double Hidden_dlx; // FRzlA1E ()

public double Hidden_alpha; // x8h&/KFEEDAE (o)

public double Hidden_beta; // y#i&/KFEEHEDAE(R)

public double Hidden_dx; // XEBAARDERA Y 2DES (dxX)

public double Hidden_dy; /) yEARBDBEGEA v 1 DE S (dy)

public double[,]& &= new double[51,51];// & & (z {#)

public double[] YMax= new double[2000] ;// Y EE{Z{EHRKIE (LiFEI/KTFLR)
public double[] YMin= new double[2000] ;// Y EE{Z{E & /IME (TiFENIKTLR)
public double Hidden_Xlen; // ‘LD X ARES = (humX-1)*dx*cos (o)
public double Hidden_Ylen; // /LD X AMEES = (nhumY-1)*dx*cos (B)

public int Hidden_NR; // FEKEHRARINDOES
public double beforX; /] RERIE X

public double beforY; // BERMIEY

public int numX=51; J/ X ARAY 2

public int numY=51; /] YyARAYT A
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(77— HIROES 2]

public double Hidden_dxCosA; // dx*cos
public double Hidden_dyCosB; // dy*cos
public double Hidden_dxSinA; // dx*sin
public double Hidden_dySinB; // dyxsin(
public double Hidden_dIxTanA; // dl*tan (o
public double Hidden_dIxTanB; // dl*tan(f)
public Matrix matrix= new Matrix();

[/ TA—NIVERRANDEBRI VIR
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public bool Hidden_Draw(PaintEventArgs e, Pen pen,
double px, double py, int p, bool Visible, bool Update)
{ /) RENESIMZHIETL, BRTLEVGS, BxHE

//
// BBE RREOARTI ST
/ e HEERS I3
// pen  IRVEM
// px R SNz X EEAE(E (CEEEER)
// py RSN Y BEAR(E (CEEEER)
//p BT IR ENIK TR DAE
// Visible BRUBMENRZTWEINESINERT (AIRTISY)
// Update IE#ETRHRWNEE, RFEIKEREFHTINESHETT IS5
i f ((py>=YMax[p]) || (py<=YMin[p]))
{ if (Update && py >=YMax[p]) YMax[pl=py;
if (Update && py <=YMin[pl) YMin[pl=py;

if(Visible)
{ float fx1=(float)beforX; float fyl=(float)beforY;
float fx2=(float)px ; float fy2=(float)py;

e. Graphics. DrawLine (pen, fx1, fy1, fx2, fy2) ;
beforX=px;beforY=py; return true;

else{ beforX=px;beforY=py; return false;}
]

[X0=Y0=0 ® 2 YK ICEAEAE]

private double Hidden_GroundX (int j, int k) // X0=Y0=0 0D & = X FE4E
{ return (double)j * Hidden_dxCosA - (double) k * Hidden_dyCosB;}

private double Hidden GroundY (int j, int k)// X0=YO=0 ) & =D Y FEIE
{ return (double)j * Hidden_dxSinA + (double) k * Hidden dySinB; }
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[OnPaint ®A4— T A K]
Z ZTlE, OnPaint CTHEHEEFERL TWET,

private int setDrawPos(int j, int k)
{ return (int) ((0.5+(Hidden_Ylen+Hidden_GroundX (j,k)) /Hidden_dIx));}
private double setPx(int j, int k, double X0, double PH)
{ return (PH * Hidden_dlx + Hidden_GroundX(j, k) + X0);}
private double setPy(int j, int k, double YO, double PH, double fp)
{ return (PH * Hidden_dIxTanA + Hidden_GroundY (j, k) + fp + Y0):}
protected override void OnPaint (PaintEventArgs e )
{ bool AR 2S5 % '=true; base.OnPaint (e);
e. Graphics. Clear (Color. White) ;
Pen pen = new Pen(Color.Black, 0. 02F) ;

e. Graphics. Transform = matrix; // FEIKFROEERE
for (int j = 0;j < Hidden_NR; j++){ YMax[j] = -1E20; YMin[j] = 1E20;}
double X0=80; double Y0=100; // RIRBRGLE

for (int k=0;k<numY;k++)
[ AR 735 Y=false;

for (int j=0; j<numX-1; j++) // X B W HEE

{ int p1 = setDrawPos(j, k); int p2 = setDrawPos(j + 1, k);
double H = &[], kl;
double DH = (&[] + 1.kl - &&[j, kD

* Hidden_dlx / Hidden_dxCosA;

for(int p = p1; p <= p2; p++) //

{ double PH = (double) (p-p1); double fp = H + DH * PH;
double px = setPx(j, k, X0, PH);
double py = setPy(j, k, YO, PH, fp);

if((j<numX-2 && p<p2) || (j == numX-2))
A[t8 7 5 4'=Hidden_Draw (e, pen, px, py, p, AIfR 754, true) ;
}
}
for (int j=0; j<numX && k<numY-1; j++) // Y Eh A R E
[ AR 254 =false;
int p1 = setDrawPos(j, k); int p2 = setDrawPos(j, k + 1);

double H = &&[]) kl;
double DH = (& [j, k + 1] - &&[j, kD)
* Hidden_dIx / Hidden_dyCosB;
for (int p = p1; p >= p2; p—) // 1@
{ double PH = (double) (p — p1); double fp = H - DH * PH;
double px = setPx(j, k, X0, PH);
double py = setPy(j, k, YO, PH, fp);

A[#R 7 5 4~ =Hidden_Draw(e, pen, px, py, p, AItR 754, p!=p2)
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(ZHai~ R U v 7 ZAF%E]

private void window(double X1, double Y1, double X2, double Y2)

{ float W = this.ClientSize.Width;
float H = this.ClientSize. Height;
float SX = W / ((float) (X2 - X1));

float SY = H / ((float) (Y2 - Y1));
matrix. Scale (SX, SY) ;
| matrix. Translate (- (float) X1, —(float)Y1);

[#2E D H11E]
mE k] OREMELZAT, AxR3RILT—FERRLTHEL LI,

private void Forml_Load (object sender, System.EventArgs e)

{

double DNX2 = ((double)numX) / 2;
double DNY2 = ((double)numY) / 2;
double X, Y R, fxy;
// BEIT—2DERE
for (int j = 0; | < numX; j++)
{
X=0.3 ((double)j - DNX2) ;
for(int k = 0; k < numY; k++)
{
Y = 0.3 x ((double)k — DNY2) ;
R = Math.Sqrt(X * X + Y % Y);

fz == 0.0) fxy = 1.0; else fxy = Math.Sin(R) / R;
| =S&[0),k]l =40.0 * fxy;

}
// RIRFAINT A—FDEEE

Hidden_dIx =0.1;

Hidden_alpha = Math.Pl/12;
Hidden_beta = Math. P1/8;
Hidden_dx = 2; Hidden_dy = 1.4

// SEIZAWSEDEE

Hidden_dxCosA Hidden_dx * Math. Cos (Hidden_alpha) ;
Hidden_dyCosB Hidden_dx * Math. Cos (Hidden_beta) ;
Hidden_dxSinA Hidden_dx * Math.Sin(Hidden_alpha) ;
Hidden_dySinB Hidden_dx * Math. Sin(Hidden_beta) ;
Hidden_Xlen (numX-1)  * Hidden_dxCosA;
Hidden_Ylen (numY-1)  * Hidden_dyCosB;
Hidden_dIxTanA = Hidden_dIx * Math. Tan (Hidden_alpha) ;
Hidden_dIxTanB = Hidden_dIx * Math. Tan (Hidden_beta) ;
Hidden_NR = (int) ((Hidden_Xlen + Hidden_Ylen) /Hidden_d|x)+1;
/] RREEI ) v ADEKE

window (=10, 200, 200, 60);




